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CLASS ACTIVITY 
The impact of high levels of employee absence on the organisation 

In pairs, complete the following:

	
A local employer comes to you and asks your advice.  Her organisation has increasing levels of sickness absence, and high labour turnover.  She thinks this might be due to low levels of employee engagement.  

What advice would you give her to:

a. find evidence to determine the levels of employee engagement are actually low

b. improve the levels of sickness absence and turnover (by improving levels of employee engagement)?

Be prepared to discuss your answers in class.
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